

Letting:

## **Florida Department of Transportation**

07/30/2020

Page 1 of 1

**Vendor Ranking** 

Call Order: 001

Contract: E3T93

**District:** District 3

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS

**Project(s):** 44703015201 (\*)

Contract Desc: - RAIL SAFETY PROJECT

03200716

July 16, 2020 2:00 PM

Ran	k Vendor	Bid Factor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	0.910	Responsive	Winning bid	\$511,979.19	100.00%
2	EMERALD COAST STRIPING, LLC.		Other		\$562,614.49	109.89%
3	AKCA, LLC	1.900	Other	Non-Winning Bid	\$1,068,967.53	208.79%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILIBILITY



### Florida Department of Transportation



Line No / Item ID

#### **Tabulation of Bids**

Page 1 of 3

(2) AKCA LIC

 Letting:
 03200716
 July 16, 2020
 Call Order:
 001
 Contract:
 E3T93

 District:
 District 3
 Counties:
 DIST/ST-WIDE
 Fed Aid No:
 N/A

(1) ACME BAPPICADES I C

Contract Time: 730 AVAILABLE DAYS

Project(s): 44703015201 (\*)

Contract Descr: - RAIL SAFETY PROJECT

The Improvements under this District Wide Contract consist of the installation of

Alternate Quantity

Railroad Dynamic Envelope signing and pavement markings at various crossing locations along with the associated mobilization and maintenance of traffic. The summary of pay items for this project is listed in the Plans. The Department will authorize services based on need and availability of budget. The scope of work may be adjusted in order that available funds are expended. Execution of this Contract does not guarantee that the work will be authorized.

The budgetary ceiling for this Contract shall be \$2,000,000.

#### PREQUALIFICATION IS REQUIRED TO BID ON THIS PROJECT

Item Description  Item Description  Units		(1) ACME BARRICADES LC		STRIPING, LLC.		(3) AKCA, LLC	
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Road	dway						
0005 0102 14 TRAFFIC CONTROL OFFICER	4.000 HR	50.05000	200.20	55.00000	220.00	104.50000	418.00
0001 Roadway Section	l	\$200.20		\$220.00		\$418.00	
SECTION: 0002 Sign 0010 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	156.000 AS	477.75000	74,529.00	525.00000	81,900.00	997.50000	155,610.00
0015 0700 1 50 SINGLE POST SIGN, RELOCATE	1.000 AS	318.50000	318.50	350.00000	350.00	665.00000	665.00
0020 0711 11123 THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	272.000 LF	3.64000	990.08	4.00000	1,088.00	7.60000	2,067.20

(2) EMERALD COAST



# Florida Department of Transportation



# **Tabulation of Bids**

Page 2 of 3

Letting	<b>g:</b> 0	3200716	July 16, 2020	Ca	II Order: 001		Contract:	E3T93	
Line No / Item ID Item Description			te Quantity Units	(1) ACME BARRICADES LC		(2) EMERALD COAST STRIPING, LLC.		(3) AKCA, LLC	
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0002	Signing						
	24" FOR STO	TANDARD, W P LINE AND	528.000 HITE, LF	6.68850	3,531.53	7.35000	3,880.80	13.96500	7,373.52
	0711 11160 OPLASTIC, S GE OR SYMB	TANDARD, W SOL	6.000 HITE, EA	183.48330	1,100.90	201.63000	1,209.78	383.09700	2,298.58
	0711 14125 OPLASTIC, P SOLID, 24" F	REFORMED, FOR CROSSW	173.000 LF 'ALK	21.31220	3,687.01	23.42000	4,051.66	44.49800	7,698.15
	RAILROAD D	REFORMED, YNAMIC	7,144.000 6" LF	10.46500	74,761.96	11.50000	82,156.00	21.85000	156,096.40
WHITE	0711 14193 OPLASTIC, P ON ASPHALT OAD DYNAMIC		15,913.000 12" LF	21.38500	340,299.51	23.50000	373,955.50	44.65000	710,515.45
THERM	OPLASTIC PA	EMOVE EXIS AVEMENT CE TO REMAII		7.05250	12,560.50	7.75000	13,802.75	14.72500	26,225.23
			Section Totals:	1	\$511,778.99 <sup>°</sup>		\$562,394.49		\$1,068,549.53
		Contract G	erand Totals:		\$511,979.19		\$562,614.49		1,068,967.53



## Florida Department of Transportation

07/30/2020

### **Tabulation of Bids**

Page 3 of 3

**Letting:** 03200716

July 16, 2020

Call Order: 001

Contract:

E3T93

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.